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2017
ECONOMICS
( Major )
Paper : 5.5
( History of Economic Thought )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
et frafeeties o sepiee Tea far
{a) Who is considered as the father of
Physiocracy?

TR AP e g o <4y 23 9

(b) Who was the exponent of ‘scientific
socialism’?
‘RIS FAERT 2T (Il i1z 2

fc) In France, Mercantilism was known
as (Fill in the blank)

Wwﬁw L e o oeifee |
(wﬁ?éﬁﬁqw)

(d) Mention the two factors that determine
Ricardian concept of exchangeable
value.

ﬁ@mﬁﬁw:ﬁxﬁn‘mwiﬁrwm
TCE 41 |
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(2)

(e) “Malthus is basically known for his two
contributions.” What are they?
ey oS (999 Bl WEWE AT
Reayre 17 oI B 2 :

() Who is referred to as the last classical
economist?

wwﬁﬂﬂﬁrﬁ—w@%ﬁwiﬁmwv

() Who said, “Rent is a differential surplus™
@R CRE, A (R 9 TS

,1?

2. Answer the following questions in brief : 2x4=8
To AR B T ferd
(a) Explain the physiocratic concept of
‘net product’.
oA T TRAM GIFANCHT T A |
(b) Mention Adam Smith’s four Cannon’s of
Taxation.

s farge 393 BIRG! S Teamy 4

(c) State Malthusian theory of gluts.
TS TEIRATH TGO T 41 |

(d) “J. S. Mill introduced a three-fold
classification of commodities and
thereby extended the theory of value.”

Mention these three types of
commodities.

“car. @b, fe (69 JEveY TP oG
coifg AR U Sy e 17 AN A9E-
@301 & &2
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(3)

3. Answer any three of the following

questions : 5x3=15
o AT 7 e fofbm e foran
(a) Examine the causes of downfall of
Mercantilism.
FRIRITT S PRPHR (R 41 |

{b) “Supply creates its own demand.”
Explain the statement.

“aenea e sz R ¥R 1 SfeE
901

fc Show  the distinction between
physiocratic ‘natural order’ and Adam
Smith’s ‘naturalism’.
Fpfi ‘Al W wmw g
‘APSI’ Ter© 4] NLFPIZT (TISAT |

(d) Mention the three factors responsible
for the crisis in a capitalistic economy.

R 4TS k6T DT 31t Semy w1 1
(e) Explain Ricardian theory of rent.
RIS <Tom1 SgCh1 IR 47 1
4. Answer any three of the following
questions : 10x3=30
OO 2CARE R ceteen ToBR Tee fot -

fa) What is Mercantilism? Name any
two mercantilist writers. Mention the
factors responsible for the growth of
Mercantilism. 2+2+6=10
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(4)

sefem o B e o ek o
s forar | ek TR PP TEL F9 |

(bj Examine the relevance of Marxian
Economics in the underdeveloped
countries.

TeEe (e W SEfes gl Qs
41 |

(c) Critically examine Malthusian theory of
Population.
TR R TGO TN eSO
41 |

(d) Examine the Adam Smith’s views on
economic development.
gt G e SwW Faze yfeR
I 4

(e) What is Tableau economigue of
Quesnay? Explain the physiocratic
views on ‘taxation’ and ‘trade’. 4+(3+3)=10
@@sE Tableau economique s &
@7 T wE M T agfeaEes
wiEes SCEs- 34 |

() Explain briefly the main contribution of
David Ricardo. Is it correct to call him a
pessimist?
cofon fRPIceR YA SRwEPER IR 40
RPICEIe Sryewe Jfe (PTRICH! W% ?

* &k
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